Pulleys - Edexcel Past Exam Questions MARK SCHEME

Question 1 Jan 05 Q5

Cluestion Scheme Marks
Number
5 (@) ‘s=ut+%atfforB: 04 = % a(05) M1 A1
a=232ms> A1
(3)
(b)  N2L for B: 08g - T=08x32 M1 A1y
l
T=5280r53N M1 A1
(4)
(c) Same acceleration for A and B. B1
(1)
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Question 2 June 07 Q6

Question

Niabar Scheme Marks
@ s=ut+la’’ = 3.15=1lax? M1 Al
a=28 (ms™) %k cso | Al 3)
(b) N2LforP. 05g-T=05x28 MI1 Al
L=3:5 (M) Al 3)
(c) N2L for O: T-mg=28m M1 Al
35 5
P M ™ cso [DMIAI (4)
126 18
(d) The acceleration of P 1s equal to the acceleration of Q. Bl (1)
(e) v=u+at = v=28x15 Ml Al
(or Vi=u'+2as = ' =2x28x3.15)
(v =17.64,v=42)
v=ut+at = 42=-42+98¢ DMI1 Al
=g .0.86. 0857 (s) DMI1 A1 (6)
[17]
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Question 3 Jan 08 Q7

Question
Number Scheme Marks
(a) B 2mg-T =2mx4g M1 Al
— T = 10mg/9 Al 3)
(b) 4
When B hits: v = 2x4g/%xh M1 Al
Deceleration of 4 after B hits: ma= i{mg = a=2g/3 M1 Al ft
Speed of 4 at P: 17 = 8gh/9 —2x2g/3 x h/3 DM1
= V= 3(gh Al (6)
(c) Same tension on 4 and B Bl ¢))
15
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Question 4 Jan 10 Q6

%l:ﬁggp Scheme Marks
(a) N2L A: 5mg—T=5mx%g M1 A1
15
T =ng X cso At (3)
(b) N2L B: T—kmg:lcmx%g M1 A1
k=3 Al (3)
(c) The tensions m the two parts of the string are the same B1 (1)
: 1 1 2
(d) Daistance of 4 above ground s, = Engx1_2 =0.18¢g (=1.764) M1 A1
Speed on reaching ground v= %g x1.2=03g (~2.94) M1 A1
(03)
For Bunder gravity (03g) =2gs, = s,= 2 2 (~0.441) M1 A1
S=25+5,=3969~40 (m) Al (7)
[14]
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Question 5 June 10 Q8

Question

Number Scheme Marks
(a) ($)0.4g-T=04a M1 A1
Mark (T)T-03g=0.3a M1 A1
together solving for T DM1
T=3360r34 or12g/35 (N) Al (6)
(b) 04g-03g=0."7a DMm1
a=14m s'z.g7 Al (2)
© | (Tw=u+at
v=05x14 M1
=0.7 Al ftona
("T‘)s=m+%m2
s=05x14x05° M1
=0.175 Alftona
(¥)s=ur+iar
1.175= -0.7t+4.9¢ DM1 A1 ft
49°-0.71-1.175=0
. _0.7£70.7 +19.6 x 1.175 DM1 AT cao
- 08
=0.5663..0r —...
Ans 0.57 or 0.566 s Al cao (9)
[17]
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